A & ol & AF & Ml A
P02 E EOI& A S S
i 200 M9l
o210 ARHLASY
g 216 0/ X4l (29l & 2)
T.p-8-2 0l &k o4 B 0 &t o HDE2
= | 198,090 150,882 47,208
200 Al2l==2 7,674 7,204 470
210 ZATALA+Y 1,810 1,340 470
216 0l X4 1,810 1,340 470
216-01 B0 201X 4+2 1,810 1,340 470
<ASBHD > 1,810 1,340 470
OZBUB0IR+Y 181,000, 00021 * 1% 1,810
220 LA HAN2 == 5,864 5,864 0
224 JIEt+ 2 50 50 0
224-07 12l 4! 50 50 0
<ASBHD > 50 50 0
OWY2 S JIE 4 (282 S) 50,0002 50
225 X E 4 ¢ 5.814 5,814 0
225-01 Xt £ 4 5.814 5.814 0
<A=FHL > 5,814 5,814 0
O=0lFe 813 VEE 42 5,814
—Sg =4 ¢ 84X 720,000 =10 Al CH *50% 3,600
—HEF, dYFH 1,100,000 »2 I CH*50% 1,100
- 20 F 1,100, 0002 1 K CH *50% 550
o Bt 528,000 *1 Al CH *50% 264
—H28 xg 600, 000! *1 4l CH *50% 300
700 BESYSL R 190,416 143,678 46,738
710 BELYS 181,000 134,352 46,738
711 203 181,090 134,352 46,738
711-01 =KAo 3 181,090 134,352 46,738
<ASBFD > 181,090 134,352 46,738
O=MNALAH= 181,090, 108& 181,090
720 L= 012 9,326 9,326 0
722 Ol 2043 9,326 9,326 0
722-04 OIS 201Xt 4 Y 9,326 9,326 0
<ASBID > 9,326 9,326 0
OOIE 301Xt 22 666,183,000 *1.4% 9,326




